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7. [11 points]
Shown to the right is the graph of a function h(x).
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For parts a.–c., circle all correct choices.

a. [2 points] Which of the following are critical points of h(x)?

x = −3 x = −1 x = 1 x = 2 x = 3 none of these

b. [2 points] On which of the following interval(s) does h(x) satisfy the hypotheses of the Mean
Value Theorem?

[−4,−1] [−4, 0] [0, 2] [3, 4] none of these

c. [2 points] On which of the following interval(s) does h(x) satisfy the conclusion of the Mean
Value Theorem?

[−4,−1] [−4, 0] [0, 2] [3, 4] none of these

d. [5 points] Define the function k(x) such that

k(x) =

{

h(x) −4 ≤ x < 1

A2 sin(Ax+B) 1 ≤ x ≤ 4,

where A and B are constants. Find one pair of values for A and B that make k(x)
differentiable at x = 1. Show your work.

Answer: A = and B =
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